D10 RN AR
\NW.
S
3 \W§ -
BRAINWARE UNIVERSITY
Term End Examination 2023

Programme — B.Tech.(CSE)-2018/B.Tech.(CSE)-2019/B Tech.(CSE)-2020
Course Name — Computer Networks

[

o
Course Code - PCC-CS602 & .
LIBRARY .
( Semester Vi) Brainware University < -
Barasat, Kolkata -70012% c' q
Full Marks : 60

Time : 2:30 Hours
[The figure in the margin indicates full marks. Candidates are required to give their answers in their
own words as far as practicable.]

Group-A

(Multiple Choice Type Question) 1x15=15
1. Choose the correct alternative from the following :

(i) Predict Which of the following has the highest bandwidth capacity?
a) Coaxial cable b) Twisted pair cable
c) Fiber-optic cable

d) Wireless communication
(ii) Observe Which of the following transmission media is the most resistant to
interference?

a) Coaxial cable b) Twisted pair cable
c) Fiber-optic cable

d) Microwaves
(iii) Show Which of the following is a characteristic of block coding?

a) Increases the number of bits transmitted b) Increases the speed of transmission
. . d) Does n bi
) Decreases the number of bits transmitted ) Does (.)t AlISEEE UmbeRofhits
transmitted
(iv) Define Hamming distance?
a) The distance between two nodes in a b) The number of errors that can be
network corrected by a code

c) The number of errors that can be detected d) The number of bits that are different
by a code

between two code words

(v) Recite Which of the following is NOT a parameter of the leaky bucket algorithm?
a) Bucket size b) Output rate
c) Input rate d) Token rate

(vi) Choose Which of the following is NOT a parameter of the token bucket algorithm?
a) Bucket size b) Token rate

c) Input rate d) Output rate
(vii) Identify Which of the following is a characteristic of a Gateway?
a) It can only be used in wired networks b) It can only connect devices within a
network
c) It can connect different types of networks d) :;T;:ly route traffic within the Same
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i o a network?
(viii) Predict Which of the following devices is used to restrict access t
a) Gateway b) Router

c¢) Firewall d) Modem ,
(ix) observe Which layer of the 0S| model does Telnet operate on
a) Physical layer b) Data.-linl.< Layer
c) Network Layer d) Application Layer von?
(x) Choose What is the default username and password for a Telnet connec !
a) admin/admin

b) user/user
c) root/root

d) telnet/telnet

~ 2 (xi) State Which kind of connection is Telnet?
s 3 a) Half-duplex b) Full-(.iuplex
>__g 5~ ¢) Simplex d) Multiplex _ detect
4 5 g (xii) Determine Which error detection technique is used by the Data Link Layer to
C o E errors in the transmitted data?
= g % .. a)‘C'h[éc‘:_k"_shh'l . b) Parity Check
®8 "9crRc A d) Hamming code
@ R (xiii) State Which"aad‘réssing scheme is used by the Network Layer to identify hosts on a
network?
a) Physical Addressing b) Logical Addressing
c) Port Addressing d) None of the above
(xiv) Select the following topology which is best suited for geographically dispersed
networks?
a) Bus Topology b) Star Topology
c) Mesh Topology d) Ring Topology
(xv) Differentiate between IPv4 and IPv6?
a) IPv4 uses 32-bit addresses, while IPv6 b) IPv4 uses 128-bit addresses, while IPv6
uses 128-bit addresses uses 32-bit addresses
c) IPv4 is newer than IPv6 d) IPv6 is backward-compatible with IPv4
Group-B
(Short Answer Type Questions) 3x5=15
2. Define the term "switching" in computer networking, different types of switching? (3)
3. Write a brief note on E-mail and FTP. (3)
4. Explain the function of Bridge, Switch and Router. (3)
5. Compare and contrast tree topology and bus topology, Which one is more reliable and (3)
why?
6. Explain Error Detection and Correction in Data Link Layer? (3)
OR
Given a 10 bit sequence 1010011110 and a divisor of 1011, find the CRC and checkyour (3)
answer.
Group-C
(Long Answer Type Questions) 5x 6=30
7. Discuss the security concerns in TCP/IP networks. (5)
8. Discuss digital signature and how does it work? (5)
9. Draw and explain the header format for a user datagram protocol, (5)
10. With an example, explain the distance vector routing, (5)
11. A router with IP address 192.165.88.10 and Ethernet physical address (5)
21:45:AB:4F:66:CD has received a packet for a destination with |p addr

ess 192.165.78.23
and Ethernet physical address AB:B7:A2:4F:47:CD. Show the entries in the ARP request
packet sent by the router. Encapsulate the ARP request packet in a data |jn frame. Fill all
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the fields.

12. A company is granted the site the address 192.168.100.0, the company needs 10 (5)
subnets. Design the subnets (which include subnet mask, number of subnets, number of
hosts in each subnet, first and last address of each subnet).

OR
Justify the importance of DNS in application layer. (5)
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